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General Instructions: -

This question paper consists of 38 questions, which are divided into
four sections: A,B,C,D.

All the questions are compulsory.

Section A includes questions from serial number 01 to 20, all questions
are of 1 mark each.

Question no 21 to 29 of Section B consists of nine very short answer
type questions. The answer to each question may be given in about 30
words. Each question carries 2 marks.

Question no 30 to 35 of Section C consists of six short answer type
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guestions. The answer to each question may be given in about 80

words. Each question carries 4 marks.

guestions. The answer to each question may be given in about 200

words. Each question carries 6 marks. Question no 36 will be answered

. Question no 36 to 38 of Section D consists of three long answer type

with the help of given passage.
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PART - A

FAAHITEIR T HFHAUT ﬁ?{}ﬂﬂ' (Theory of Demographic Transition) ¥
Pt 3 ¥ B 2 ge 2

Who among the following is associated with the Theory of Demographic
Transition?

a) STl FATFYT / Karl Marx

b) YTHT I ATEUT / Thomas Robert Malthus

¢) fFeger 3f@W / Kingsley Davis

d) sawﬂmw—é‘ld 3oy AFade 3R % .TH ./ W. M. Thompson
and Frank W. Noaustin

farsiRar arqura @ T F FF e fram = @2
Which of the following correctly defines the Dependency Ratio?
a) SN 3N IN-FRIM FAHEAT T 3T

The ratio of working to non-working population

b) et R geEt & T H 3

The ratio of children to elderly in the population

¢) 0-14 31R 60+ a¥ & NFAAT &1 15-59 a¥ Fr FrRMNT STTaEaT &
3eTaT

o)
The ratio of the economically dependent population (0—14 and 60+ years) to the
working-age population (15-59 years)
d) FrHAIOT IR AEY SIAHEAT T 3T

The ratio of rural to urban population
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1918-19 ¥ ARIF ] AFHAR FT HRA W FAT YT IHT 937 41?2

What was the major outcome of the Global Influenza Pandemic of 1918—19 in
India?

a)SleH & H ag:\fﬁ / Increase in birth rate

b) HTERAT &¥ H a(?.'@' / Increase in literacy rate

) Hg X H g gefr IR Sheraear # fRrae

Sharp rise in death rate and population decline

d) TAELT AT FT RLe37d / Introduction of health insurance

"37ERT FTY (Invisible Hand)" 3 FFa IR & rqeumom Fa
FATSTATE @ 3 T2

The concept of the "Invisible Hand" and free market is associated with which
economist?

a) STl FATFYT / Karl Marx

b) TsH THAY / Adam Smith

¢) HFH d€X / Max Weber

d) feesT HISHTT / Milton Friedman

HIedifgsd ST TSR (Weekly Tribal Market) ff@ &R &Y am@fos

THIEYT FT geATar &2
What kind of social structure is reflected in a Weekly Tribal Market?

a) Fao s TS / Purely economic exchange

b) g 3R Hi{-ccr‘vfach HAdI-3itel / Social and cultural interaction
¢) 3IRTSET SATIR / International trade

MEREIETIE '\qﬁ?ﬁ' / Consumer culture

FTSHATAT GUT HT Faor fFad &2

The Jajmani System is primarily associated with:

a) SIT-3TUTRA IRAMETT faHTSTeT / Caste-based occupational division
b) 3-11%13%? tj?ﬁﬁ'lﬂ' / Modern capitalism

¢) dRdIIOT / Globalization

d) ATeTelsa fa9uTer / Online marketing




HST HTANT (Mandal Commission) fF& 33?\?2[ ¥ afsa frar = ar?

The Mandal Commission was established for what purpose?

a) TT&RAT gl & foIlT / To improve literacy
b) e guit & aEnfas 3R s Fufa s=a & v

To identify the social and economic condition of Backward Classes

¢) IS XWT T & & folT / To fix poverty line
d) Afgem 3SRT Fr Fe@T ¢of & foIT / To promote women’s rights

8 | Pfaf@d & ¥ FI9-9T 30T WHIfSF IESHR (Social Exclusion) Y
galfar §?
Which of the following is an example of Social Exclusion?
a) Toh OTF I G H 3T%heldT / A student failing in exams
b) fRT AT FI AT F §Teled T UshaAT / A woman being stopped from
speaking in a village council
c) slteT & foIT TTEICHR ST / Attending a job interview
d) 3T Y& 9red FAT / Getting higher education

9 | yRa & el Y@ & A AT IO Fw ar At 1 gfaera AuRor
Hqega: fra R @ fRar smar @2
In India, the percentage of population living below the poverty line is primarily
determined on the basis of:
a) f1&TT T / Education level
b) WIA-UT 3R 3T / Food consumption and income
¢) 9T T FaIfAca / Ownership of property
d) SRISTITRT &3 / Unemployment rate

10 Which term refers to exclusive loyalty to one’s own region over the nation?
R eeg HT YA 3H HAGAT & [T giar g oG aiFd TS¢ & Ford
3T &F T YrAfASAr ar 8?2

1 | v o Tl o @ Fr ded § o @R AR He
A= greh g2

12 What is the term for a group of people who share common identity, culture,
language, and history?
TF UH WG FI T Fed § (ool Ggdld, HEpid, o 3R sfagra
AT BT 8?

13 The industry in Assam relied heavily on migrant laborers recruited
from tribal and backward regions.
3 dr 3¢9 AEY &9 F SAoncng AR Usg aEt & e

AT YA Holgll W AT AT

A




14

After independence, industrial towns like and Bhilai were developed
to promote industrialization.

TaATdT & 9T, ieaefeior &I ggmar & & fou 3R e
S e e fawfla ferw ooy

15

The cities of Mumbai, Kolkata, and Chennai developed as major cities
under British rule.

HES, BRIl AR Aot S wed e e e woq
IR & T A fawfad gul

16

Assertion (A): Social movements are always spontaneous and unorganized.
Reason (R): Movements do not require leadership or a defined structure.

FYT (A): GATSIR 3NTIeleT §HAT IS 3R 3@afod gla &
FROT (R): AareAl & T dqdea a1 U AR S &1 3aeFehdr w71
gicitl

a) Both A and R are true. A 3T R aAT I %I

b) Both A and R are false. A 3R R gl 30T &1

¢) A is true, but R is false. AT g, olfched R 30T &1
d) A is false, but R is true. A 37T §, ofehed R T &

17

Assertion (A): The Right to Information campaign is an example of a
revolutionary movement.

Reason (R): Revolutionary movements aim to completely overthrow the existing
system.

FYUT (A): FIAT T PR RIS Tk HIfASRT STl I 3G
gl

FROT (R): FifIpRT HTGTelell T 36T HiSEl saedT &l U g &
3@T8 el g gl

a) Both A and R are true, and R is the correct explanation of A.

Sl U T &, IR HROT FHUT AT T TISEHT

b) Both A and R are true, but R is not the correct explanation of A.

Sl YT TEI &, W HRUT HUA HT TTCHT 7¢I &

c) Ais true, but R is false.

FUF TE &, Afhed HROT Il &

d) Ais false, but R is true.

FYT I g, Afthed HROT T B




18

Who led the Champaran Satyagraha related to the indigo farmers'
struggles?

TIROT FATTE, At Al framal & wod § geaftra o1, &7 aqgea o
foram am?

a) Sardar Vallabhbhai Patel / TRGR ToolsTHTS Il
b) Dr. B.R. Ambedkar / 3. &.3TR. 3§saT

¢) Mahatma Gandhi / HGIcHT amefy

d) Subhas Chandra Bose / TS ag a9

19

Who invented the modern printing press, which marked the beginning of
modern mass media?

Imyfas Agor 97 F AfasER frasr B, e smyfas seeear
ATEIAT FT YTHTT F1?

a) James Augustus Hicky / S/&8 3Rreed fgehr
b) Raja Ram Mohan Roy / ITSTT & #Alged 1T
¢) Johann Gutenberg / TgTeT W

d) Jawaharlal Nehru / STaTg{elTel ERES

20

Which TV serial is considered the first Hindi soap opera on Indian television
and a turning point in mass media?

SR e W ggar & a9 39T Fia @ o1 59 Fa8=9R
ATETAT H T AT FT I AT SAGT 82

a) Buniyaad / ﬂﬁ'q'l?.‘\'

b) Mahabharat / HGTHAR I
¢) Ramayan / ITHTIOT

d) Hum Log / & olI9T

HIT -2
PART -B

21

What does fertility rate refer to?

olelel &Y Tl &hed &2

Or
What is meant by sex ratio?

folaTegure & 319 &A1 HAS 87

22

What is a nuclear family?

aAfFhr aiar &7 giar &2
Or

What is the difference between caste and varna?

Sfa 3R aof & &1 3w &

A




23

What are acquired traits in tribal communities?

3nfeardr FHerE A HTST 0T (Acquired Traits) 3T 81 82

24

Define civil society.

AR AT (Civil Society) T IRATA FHifoT|

Or
What is integrationist policy?

THIRUTATE! (Integrationist) ATt FaT g2

25

What is Smart City Mission?
e 7 faee = g2

26

What is the role of Nyaya Panchayats?
A YA T AT A §?

27

What was the main objective of the Land Ceiling Acts?

oA A FRfATAT 1 &I 3T Far U

28

What is the role of advertisements in mass media?

SeEaR ATeTAt F et & Far sfFer g

29

Name the ecological movement launched in Karnataka similar to Chipko.
FITeRr JHicTeleT T oRE Feilees A Y& fohar argr aIRfEAfas ticters
et |1 Ur

AT -3
PART -C

30

What is the connection between National Development and Tribal Development?
T o 3R Seraa e & Far g9y g2

Ydar
What are the Permanent and Acquired Traits of Tribal Communities?

3nfeare Feerl & TART 3R JfoTc TaToT T 82

31

Explain the changes brought by industrialisation in Indian society.

AR # 3eFIeNaor & 3T AAITSR IREd=HT T carear S|

32

Explain the concept of Westernisation and its impact on Indian society.

qIRATCHNR T T ITUROT ! TASTST IR HRAT THATST IR 38k THIT i
Iitey

33

Mention any four problems faced by industrial workers in India.
R # e sfFwr F 7 arel IR AN AfET|
3qar

Describe the role of government schemes like ‘Make in India’ and ‘Stand Up
India’ in employment generation.

‘A% 3o 3397 3R T3 37 3BIr Sy W AR T AR
ol H {1 darsT]

1+1+
1+1

34

Explain the impact of globalisation on employment.

USTTR TR JLHI0T T F37TT THASTST|

A




35 What was the Mandal Commission? State its impact.
HS 3ART 4T AT? SHb THG ddBT|
AT -4
PART-D
36 | QU 91T 3fede @l afed 3R Feafaf@d et & 301 Afee-

AR $T Faedr Faar # o e 7 F N Agcaqer aRkadst 3w
£1 1901 & 2011 & oI, IR I STATEIT STITHIT 23.8 FIZ & T 120 WIS
¥ HfUw g 7| IF o AT FT § TARLT YRR F gUR & IR0 g
WA FH M A §S, AP FoA & 3 dolt & AT G| §H I &
RN SFHE # A e g2

AT & Ay, T S8edn Afd 3R [_ffes waeea sif@ast & A @
Uolelel &Y 1 TG foham a1am| 3T R I Teh 31 STAEEd SRl 3y
I (15 F 64 aV) # §, o0 FTaaif&ash amermer (Demographic Dividend) &gT
ST &1 gTellieh, 3§ ST T G &1 331 & fow, dor 1 et sierer faswm
3R VSR & @R 7 A3 Har grem|

India’s demographic profile has undergone significant changes over the
past century.

Between 1901 and 2011, India’s population increased from about 238 million to
over 1.2 billion. This growth was influenced by a decline in death rates due to
better health infrastructure, but birth rates did not fall at the same pace. This
created a population boom. Over time, policies like the National Population Policy
and various health campaigns helped control the fertility rate. India now has a
large proportion of its population in the working-age group (15—64 years), creating
what is called a demographic dividend. However, to benefit from this, the
country must invest in education, skills, and jobs.

Q1. What factors contributed to India’s population boom after 1901?
1901 %F T HRA A JAGEAT # g F FI1 FRoT A?

Q2. What is meant by "demographic dividend"?
"STARITRIRT AT F 3T FIT FASAS &2

Q3. What steps should India take to make the most of its demographic dividend?

AR HT Y STTHTETDT TN FT o 3o & AT FAT FeH Io=
Tifge?

A




37

Discuss the role of social reformers in addressing social inequality and exclusion
in 19th and 20th century India.

1987 3R 20dT TSy F AATGIR IFEATAT 3T SR T g e
# FATST FURDT T AT W ==l HfST|
3ryar

feequf ¢ — Comment
o SAfaaT $o Jyotirao Phule
o 3M¥ ¥ATH Arya Samaj

3+3

38

Discuss the role of Panchayati Raj in promoting social justice and grassroots
democracy in India.

IR #H gfeie = 3R FHlel TR W diedd & derdr & &
AR e B RS Wt HifFw
3rar

What are the main features of the 73rd and 74th Constitutional Amendments,
and how have they contributed to local self-governance in India?

733 3R 749 G @eue B AET ARAVAC F=4r §, AR s dRA
H TUT TAET # R YR Aere fear g




